15CS52

~Time: 3 hrs.

Note: Answer any FIVE full questions, :

1 a. Explain now interaction occurs between web browser and Web server using HTTP message.

50, will be treated as malpractice.

Explam HTTP request mé sage format (06 Marks)
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C. Explam RJP(Routlng Information Protocol) with its message format. (05 Marks)
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Module-4
Explain 3G cellular data network. (06 Marks)
Write a note on mobile IP. (06 Marks)
Explain in brief how mobility is managed in &ellular networks. (04 Marks)

What is handoffs? Explain stepsﬁ,

mobile user. (06 Marks)
With neat diagram, explain ageﬁ (05 Marks)
Write a note on indirect routmg go moblle node. ) (05 Marks)
Module-5 )
Give the classification of»multlmedm application. Expl%m in brief. (04 Marks)
Explain Content Dfsttlbutlon Networks (CDN) and its operation. (06 Marks)
ent and server for HTTP streaming.
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